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3 Can assume that xp only has cosine
terms bee X t ax has no x term
and F only has cosine terms

Xs EAn cos Et
x's E f fan cos Et

So xp 4xsp F

4 Ez 2 Ao I

E Ant 4An Ep c it it

An Em I
4 gen solin

A cos 24 t Bsinkat It Egypt



PI x Ex Flt

Write x If E An cos att
x Ex

f I If E Arcos H

Ferron vanishes when
u L

Setting equal to F

E I 2 Ao

O As impossible

So Ay can't be found meaning that
our assumption that Xp had a Solin
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Fca has graph as follows
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4 Find expansion off in Problem 2 b
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Then play in for coef of Xsp

Xp 0.32 Sin Tt 3.127 0.032 sin 3Mt 3.1352
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